

Gould Functional Recurrence Equations and Fibonacci Numbers

Mircea Ion Cîrnu

Department of Applied Mathematics,
Faculty of Applied Sciences,
Polytechnic University, Bucharest, Romania
cirnumircea@yahoo.com

Received: 25-05-2013

Revised: 20-07-2013

Accepted: 24-07-2013

Abstract: *The author has studied and solved different types of recurrence equations, especially non-linear. Some of his works in this area are mentioned in the references. In the present article a new type of nonlinear recurrence equations is introduced. These equations are named Gould functional recurrence equations and they have as solutions sequences of functions called Gould sequences. We prove that, in certain conditions, the Gould functional equations are equivalent to some numerical nonlinear recurrence equations whose solutions are the coefficients of the power series expansions of the solutions of the Gould equations. Then several particular Gould equations and their associated numerical recurrence equations will be solved. In all these cases, the closed formulas of their solutions are expressed by Fibonacci numbers. Some of the particular equations considered here have been already introduced by H. W. Gould, whence the origin of the name of the recurrence equations introduced in this article.*

Keywords: *Functional recurrence equations, Numerical recurrence relations, Gould sequences of functions, Fibonacci numbers.*

2010 Mathematics Subject Classification: 05A19, 11B39.

1. INTRODUCTION

In the paper [8] H. W. Gould has considered some new nonlinear recurrence equations whose solutions are functions expressed relative to Fibonacci numbers. For one of these equations he has obtained a characterization related to the coefficients of power series development of the solutions.

The present paper aims at exploiting these ideas, considering a general nonlinear recurrence equation having functions as unknowns. This equation will extend the equations presented in the work [8] and therefore, it is called Gould functional recurrence equation. The sequence of its solutions is called Gould sequence of functions. Our general Gould equation is defined by an operator considered on the space of all functions, giving the connection between the unknown of the equation and the product of the two previous unknowns.

The notion defined here as Gould sequence of functions will receive a specific characterization which generalizes the one given in work [8]. This characterization consists in a numerical nonlinear recurrence relation satisfied by the coefficients of the power series developments of the functions by the Gould sequence.

The Gould functional equation and its associate numerical recurrence relation are solved in several particular cases. In all considered cases, some of them extending those from the work [8], the formulas of the solutions are expressed relative to Fibonacci numbers.

2. GOULD SEQUENCES OF FUNCTIONS

The notion of *Gould sequence of functions* is defines as

$$(u_n(x)) = G(A; u_0(x), u_1(x)),$$

given by an operator A on the space of all functions and the initial terms $u_0(x)$ and $u_1(x)$, as being the sequence that satisfies the nonlinear recurrence equation

$$u_{n+1}(x) = A(u_n(x) u_{n-1}(x)), \quad n = 1, 2, \dots \tag{1}$$

called *Gould recurrence equation*. The word *functional* refers to the fact that the solution of such equation is a sequence of functions, in contrast with the recurrence relations whose solutions are numerical sequences and are therefore called *numerical recurrence relations* or *equations*.

For some A , $u_0(x)$ and $u_1(x)$, such sequences is considered in [8]. In this paper a characterization and examples of Gould sequences of functions are given by determining the formula of general term in each case. These formulas contain Fibonacci numbers,

$$F_0 = 0, F_1 = 1, F_2 = 1, F_3 = 2, F_4 = 3, F_5 = 5, F_6 = 8, F_7 = 13, \dots,$$

defined by the well-known recurrence relation

$$F_{n+1} = F_n + F_{n-1}, \quad n = 1, 2, \dots \tag{2}$$

3. THE CHARACTERIZATION OF THE GOULD SEQUENCES

In this Section a linear continuous operator A is defined on a topological vector space E of functions. Let us suppose that $u_n(x) \in E$ and $x^n \in E$, with the following developments in convergent power series

$$u_n(x) = \sum_{k=0}^{\infty} a_k(n) x^k, \quad A(x^n) = \sum_{k=0}^{\infty} t_k(n) x^k, \quad n = 0, 1, 2, \dots \tag{3}$$

Theorem. 3.1. *The sequence of functions $u_n(x)$ satisfies Gould recurrence equation (1) if and only if the coefficients $a_k(n)$ satisfy the recurrence relation*

$$a_k(n+1) = \sum_{j=0}^{\infty} t_k(j) \sum_{i=0}^j a_i(n) a_{j-i}(n-1), \quad k = 0, 1, 2, \dots, \quad n = 1, 2, \dots \tag{4}$$

The series of formula (4) being supposed to be convergent.

Proof. Taking into consideration the relations (3) and Cauchy's formula for series product, the recurrence equation (1) becomes

$$\begin{aligned} \sum_{k=0}^{\infty} a_k(n+1) x^k &= A\left(\sum_{j=0}^{\infty} a_j(n) x^j \sum_{j=0}^{\infty} a_j(n-1) x^j\right) = A\left(\sum_{j=0}^{\infty} \sum_{i=0}^j a_i(n) a_{j-i}(n-1) x^j\right) = \\ &= \sum_{j=0}^{\infty} \sum_{i=0}^j a_i(n) a_{j-i}(n-1) A(x^j) = \sum_{j=0}^{\infty} \sum_{i=0}^j a_i(n) a_{j-i}(n-1) \sum_{k=0}^{\infty} t_k(j) x^k = \\ &= \sum_{k=0}^{\infty} \sum_{j=0}^{\infty} t_k(j) \sum_{i=0}^j a_i(n) a_{j-i}(n-1) x^k, \end{aligned} \tag{5}$$

equivalent with the recurrence equation (4).

Remark 1. *It should, however, be mentioned that the formula (4) occurs only if the two infinite series which appear in formula (5) from the proof of the theorem 3.1 can be interchangeable. Simple cases where this condition is fulfilled because one of these series is a finite sum, will be given in the following Section.*

4. PARTICULAR CASES OF GOULD EQUATIONS

1) If $A = I$, the identity operator, then $t_k(j) = \delta(j, k) = \begin{cases} 1 & , \quad j = k, \\ 0 & , \quad j \neq k, \end{cases}$ for $k, j = 0, 1, 2, \dots$, the

Kronecker symbol, hence the functional recurrence equation

$$u_{n+1}(x) = u_n(x) u_{n-1}(x) \tag{6}$$

and the numerical recurrence relation

$$a_k(n+1) = \sum_{i=0}^k a_i(n) a_{k-i}(n-1), \tag{7}$$

for $k = 0, 1, 2, \dots$, and $n = 1, 2, \dots$, are equivalent.

2) If $A = D$, the derivative operator in x , then

$$t_k(j) = (k+1)\delta(j, k+1) = \begin{cases} k+1 & , \quad j = k+1, \\ 0 & , \quad j \neq k+1, \end{cases}$$

hence from theorem 3.1 results that the functional recurrence equation

$$u_{n+1}(x) = D(u_n(x)u_{n-1}(x)) \tag{8}$$

and the numerical recurrence relation

$$a_k(n+1) = (k+1) \sum_{i=0}^{k+1} a_i(n) a_{k+1-i}(n-1), \tag{9}$$

for $k = 0, 1, 2, \dots$, and $n = 1, 2, \dots$, are equivalent.

3) If $A = x D$, then

$$t_k(j) = k\delta(j, k) = \begin{cases} k & , \quad j = k, \\ 0 & , \quad j \neq k, \end{cases}$$

Hence from theorem 3.1 results that the functional recurrence equation

$$u_{n+1}(x) = x D(u_n(x)u_{n-1}(x)) \tag{10}$$

and the numerical recurrence relation

$$a_k(n+1) = k \sum_{i=0}^k a_i(n) a_{k-i}(n-1), \tag{11}$$

for $k, n = 1, 2, \dots$, are equivalent.

Remark 2. The above particular case 3) is given in [8].

5. EXAMPLES OF GOULD SEQUENCES OF FUNCTIONS

5.1 The Sequence $G(I; u_0(x), u_1(x))$

In this case, the recurrence equation (1) takes the form (6) and we have $u_2(x) = u_1(x)u_0(x) = u_1^{F_2}(x)u_0^{F_1}(x)$, $u_3(x) = u_2(x)u_1(x) = u_1^2(x)u_0(x) = u_1^{F_3}(x)u_0^{F_2}(x)$. For a fixed natural number n let us assume that

$$u_k(x) = u_1^{F_k}(x)u_0^{F_{k-1}}(x), \tag{12}$$

for $1 \leq k \leq n$. Then, using (6) and (2), we obtain

$$u_{n+1}(x) = u_1^{F_n}(x)u_0^{F_{n-1}}(x)u_1^{F_{n-1}}(x)u_0^{F_{n-2}}(x) = u_1^{F_n+F_{n-1}}(x)u_0^{F_{n-1}+F_{n-2}}(x) = u_1^{F_{n+1}}(x)u_0^{F_n}(x),$$

Hence formula (12) is true for $k = n + 1$. In conformity with induction axiom, formula (12) is true for every natural number $k \neq 0$.

Remark 3. If $u_0(x) = u_1(x)$, using again (2), it results that the solution of recurrence equation (6) is given by the formula

$$u_k(x) = u_0^{F_{k+1}}(x), \quad k = 0, 1, 2, \dots \tag{13}$$

Is called *discrete convolution* or *Cauchy product* of two numerical sequences (a_k) and (b_k) , the

sequence $(a_k) * (b_k) = \left(\sum_{i=0}^k a_i b_{k-i} \right)$, in entire papers the index k going through the set of natural

numbers. Let us define the *convolution powers* of the sequence (a_k) , by

formula $(a_k)^{*n} = (a_k) * (a_k) * \dots * (a_k)$, the product having n factors, for a natural number $n \geq 1$,

and $(a_k)^{*0} = (1, 0, 0, \dots)$, the convolution unit. With these notations, from (12), (13) and the

Theorem 3.1, results the following

Theorem 5.1. *The numerical recurrence equation (7), which takes the form*

$$(a_k(n+1)) = (a_k(n)) * (a_k(n-1)), \quad n = 1, 2, \dots, \quad k = 0, 1, 2, \dots, \tag{14}$$

with the initial data $(a_k(0))$ and $(a_k(1))$, has the solution given by the formula

$$(a_k(n)) = (a_k(1))^{*F_n} * (a_k(0))^{*F_{n-1}}, \quad n = 1, 2, \dots, \quad k = 0, 1, 2, \dots \tag{15}$$

If $a_k(0) = a_k(1)$, $k = 0, 1, 2, \dots$, then the solution of equation (7) is

$$(a_k(n)) = (a_k(0))^{*F_{n+1}}, \quad n = 1, 2, \dots, \quad k = 0, 1, 2, \dots \tag{16}$$

Remark 4. *We check now directly that the sequence (15) satisfy the equation (14). Indeed, using (15) and (2), we have*

$$(a_k(n)) * (a_k(n-1)) = (a_k(1))^{*F_n} * (a_k(0))^{*F_{n-1}} * (a_k(1))^{*F_{n-1}} * (a_k(0))^{*F_{n-2}} =$$

$$= (a_k(1))^{*(F_n + F_{n-1})} * (a_k(0))^{*(F_{n-1} + F_{n-2})} = (a_k(1))^{*F_{n+1}} * (a_k(0))^{*F_n} = (a_k(n+1)),$$

hence the equation (14) is satisfied. If $a_k(0) = a_k(1)$, using again (2), the solution (15) becomes

$$(a_k(n)) = (a_k(0))^{*F_n} * (a_k(0))^{*F_{n-1}} = (a_k(0))^{*(F_n + F_{n-1})} = (a_k(0))^{*F_{n+1}},$$

thus resulting formula (16).

5.2 The Sequence $G(D; 1, e^x)$

In this case the recurrence equation (1) takes form (8) and

$$u_0(x) = 1 = e^{F_0 x}, \quad u_1(x) = e^x = e^{F_1 x}, \quad u_2(x) = D(e^{(F_0 + F_1)x}) = D(e^{F_2 x}) = F_2 e^{F_2 x} = e^{F_2 x},$$

$$u_3(x) = D(e^{F_3 x}) = F_3 e^{F_3 x}, \quad u_4(x) = F_3 D(e^{F_4 x}) = F_3 F_4 e^{F_4 x}, \quad u_5(x) = F_3^2 F_4 D(e^{F_5 x})$$

$$= F_3^{F_3} F_4^{F_2} F_5^{F_1} e^{F_5 x}, \quad u_6(x) = F_3^3 F_4^2 F_5 D(e^{F_6 x}) = F_3^{F_4} F_4^{F_3} F_5^{F_2} F_6^{F_1} e^{F_6 x}.$$

For a fixed natural number n let us assume that

$$u_k(x) = F_3^{F_{k-2}} \dots F_{k-2}^{F_3} F_{k-1}^{F_2} F_k^{F_1} e^{F_k x}, \tag{17}$$

for $3 \leq k \leq n$. Then, using (17), (8) and (2), we obtain

$$\begin{aligned} u_{n+1}(x) &= D(u_n(x) u_{n-1}(x)) = F_3^{F_{n-2} + F_{n-3}} \dots F_{n-1}^{F_2 + F_1} F_n^{F_1} D(e^{(F_n + F_{n-1})x}) = \\ &= F_3^{F_{n-1}} \dots F_{n-1}^{F_3} F_n^{F_2} D(e^{F_{n+1}x}) = F_3^{F_{n-1}} \dots F_{n-1}^{F_3} F_n^{F_2} F_{n+1}^{F_1} e^{F_{n+1}x}. \end{aligned}$$

In conformity with induction axiom, formula (17) is true for every natural number $k \geq 3$.

Remark 5. The recurrence equation (8) with above initial values was considered in [8] but there was unfortunately wrong solved.

From (17) and the Theorem 3.1, results in the following

Theorem 5.2. The numerical recurrence relation (9) with initial data $(a_k(0)) = (\delta(k,0))$ and

$$(a_k(1)) = \left(\frac{1}{k!}\right), \text{ has the solution given by formulas}$$

$$(a_k(2)) = \left(\frac{1}{k!}\right), (a_k(3)) = \left(\frac{2^{k+1}}{k!}\right)$$

and

$$(a_k(n)) = \left(F_3^{F_{n-2}} \dots F_{n-1}^{F_2} \frac{F_n^{k+1}}{k!}\right), n = 4,5,\dots, k = 0,1,2,\dots \tag{18}$$

Remark 6. Let us verify now that the solutions presented in the Theorem 5.2 satisfy the recurrence equation (9). Indeed, for $n = 1,2,3,4$, we have successively

$$(k+1) \sum_{i=0}^{k+1} a_i(1) a_{k+1-i}(0) = (k+1) a_{k+1}(1) = \frac{1}{k!} = a_k(2),$$

$$(k+1) \sum_{i=0}^{k+1} a_i(2) a_{k+1-i}(1) = (k+1) \sum_{i=0}^{k+1} \frac{1}{i!(k+1-i)!} = \frac{1}{k!} \sum_{i=0}^{k+1} \binom{k+1}{i} = \frac{(1+1)^{k+1}}{k!} = \frac{2^{k+1}}{k!} = a_k(3),$$

$$\begin{aligned} (k+1) \sum_{i=0}^{k+1} a_i(3) a_{k+1-i}(2) &= (k+1) \sum_{i=0}^{k+1} \frac{2^{i+1}}{i! (k+1-i)!} = \frac{2}{k!} \sum_{i=0}^{k+1} \binom{k+1}{i} 2^i = 2 \frac{(2+1)^{k+1}}{k!} = \\ &= 2 \frac{3^{k+1}}{k!} = F_3^{F_2} \frac{F_4^{k+1}}{k!} = a_k(4), \end{aligned}$$

$$\begin{aligned} (k+1) \sum_{i=0}^{k+1} a_i(4) a_{k+1-i}(3) &= (k+1) \sum_{i=0}^{k+1} 2 \frac{3^{i+1}}{i! (k+1-i)!} = \frac{12}{k!} \sum_{i=0}^{k+1} \binom{k+1}{i} 3^i 2^{k+1-i} = \\ &= 12 \frac{(3+2)^{k+1}}{k!} = 12 \frac{5^{k+1}}{k!} = F_3^{F_3} F_4^{F_2} \frac{F_5^{k+1}}{k!} = a_k(5), \end{aligned}$$

and for $n \geq 5$, we have

$$\begin{aligned} (k+1) \sum_{i=0}^{k+1} a_i(n) a_{k+1-i}(n-1) &= (k+1) \sum_{i=0}^{k+1} F_3^{F_{n-2}} \dots F_{n-1}^{F_2} \frac{F_n^{i+1}}{i!} F_3^{F_{n-3}} \dots F_{n-2}^{F_2} \frac{F_{n-1}^{k+2-i}}{(k+1-i)!} = \\ &= \frac{F_3^{F_{n-2}+F_{n-3}} \dots F_{n-2}^{F_3+F_2} F_{n-1}^{F_2+1} F_n^{k+1}}{k!} \sum_{i=0}^{k+1} \binom{k+1}{i} F_n^i F_{n-1}^{k+1-i} = \\ &= \frac{F_3^{F_{n-1}} \dots F_{n-2}^{F_4} F_{n-1}^{F_3} F_n^{F_2}}{k!} (F_n + F_{n-1})^{k+1} = F_3^{F_{n-1}} \dots F_{n-1}^{F_3} F_n^{F_2} \frac{F_{n+1}^{k+1}}{k!} = a_k(n+1). \end{aligned}$$

5.3 The Sequence $G(D;1,x^m)$, With m Natural Number

Now let us also solve the recurrence equation (8), for $u_0(x) = 1 = x^{mF_0 - F_1 + 1}$ and $u_1(x) = x^m = x^{mF_1 - F_2 + 1}$. Using (8) and (2), we obtain

$$\begin{aligned} u_2(x) &= D(x^{mF_1 - F_2 + 1}) = D(x^{mF_2 - F_3 + 2}) = (mF_2 - F_3 + 2)^{F_1} x^{mF_2 - F_3 + 1}, \\ u_3(x) &= (mF_2 - F_3 + 2)^{F_1} D(x^{m(F_1 + F_2) - (F_2 + F_3) + 2}) = (mF_2 - F_3 + 2)^{F_2} D(x^{mF_3 - F_4 + 2}) = \\ &= (mF_2 - F_3 + 2)^{F_2} (mF_3 - F_4 + 2)^{F_1} x^{mF_3 - F_4 + 1}. \end{aligned}$$

By mathematical induction it results

$$G(D;1,x^m) = \left(1, x^m, \prod_{k=2}^n (mF_k - F_{k+1} + 2)^{F_{n+1-k}} x^{mF_n - F_{n+1} + 1} : n = 2,3,\dots \right). \tag{19}$$

From (19) and the Theorem 3.1, results the following

Theorem 5.3. *The numerical recurrence equation (9) with the initial data $(a_k(0)) = (\delta(k,0))$ and $(a_k(1)) = (\delta(k,m))$, has the solution given by the formula*

$$(a_k(n)) = \left(\prod_{j=2}^n (mF_j - F_{j+1} + 2)^{F_{n+1-j}} \delta(k, mF_n - F_{n+1} + 1) \right), n = 2,3,\dots \tag{20}$$

Remark 7. *We will verify that the solution (20) satisfy the equation (9). Indeed,*

$$\begin{aligned} (k+1) \sum_{i=0}^{k+1} a_i(1) a_{k+1-i}(0) &= (k+1) a_{k+1-m}(0) = \\ &= (k+1) \delta(k+1-m, 0) = m \delta(k, m-1) = a_k(2), \\ (k+1) \sum_{i=0}^{k+1} a_i(2) a_{k+1-i}(1) &= (k+1) a_{k-m+2}(1) = \\ &= (k+1) m \delta(k-m+2, m) = m(2m-1) \delta(k, 2m-2) = a_k(3), \\ (k+1) \sum_{i=0}^{k+1} a_i(n) a_{k+1-i}(n-1) &= (k+1) \prod_{j=2}^n (mF_j - F_{j+1} + 2)^{F_{n+1-j}} a_{k-mF_n+F_{n+1}}(n-1) = \\ &= (k+1) \prod_{j=2}^n (mF_j - F_{j+1} + 2)^{F_{n+1-j}} \prod_{j=2}^{n-1} (mF_j - F_{j+1} + 2)^{F_{n-j}} \delta(k - mF_n + F_{n+1}, mF_{n-1} - F_n + 1) = \\ &= (k+1) (mF_n - F_{n+1} + 2)^{F_1} \prod_{j=2}^{n-1} (mF_j - F_{j+1} + 2)^{F_{n+1-j} + F_{n-j}} \delta(k, mF_{n+1} - F_{n+2} + 1) = \\ &= (mF_{n+1} - F_{n+2} + 2) (mF_n - F_{n+1} + 2)^{F_2} \prod_{j=2}^{n-1} (mF_j - F_{j+1} + 2)^{F_{n+2-j}} \delta(k, mF_{n+1} - F_{n+2} + 1) = \\ &= \prod_{j=2}^{n+1} (mF_j - F_{j+1} + 2)^{F_{n+2-j}} \delta(k, mF_{n+1} - F_{n+2} + 1) = a_k(n+1). \end{aligned}$$

5.4 The Sequence $G(xD;1,x^m)$

Let us solve recurrence equation (10) when $u_0(x) = 1 = x^{mF_0}$ and $u_1(x) = x^m = x^{mF_1}$. Using (10) and (2), we obtain

$$\begin{aligned} u_2(x) &= xD(u_1(x)u_0(x)) = xD(x^m) = mx^m = m^{F_3-1} F_2^{F_1} x^{mF_2}, \\ u_3(x) &= xD(u_2(x)u_1(x)) = mxD(x^{2m}) = 2m^2 x^{2m} = m^{F_4-1} F_2^{F_2} F_3^{F_1} x^{mF_3}, \\ u_4(x) &= xD(u_3(x)u_2(x)) = m^{F_3+F_4-2} F_2^{F_1+F_2} F_3^{F_1} xD(x^{m(F_2+F_3)}) = \\ &= m^{F_5-2} F_2^{F_3} F_3^{F_2} xD(x^{mF_4}) = m^{F_5-1} F_2^{F_3} F_3^{F_2} F_4^{F_1} x^{mF_4}. \end{aligned}$$

By mathematical induction it results in

$$G(xD;1,x^m) = \left(1, x^m, m^{F_{n+1}-1} \prod_{k=2}^n F_k^{F_{n+1-k}} x^{mF_n} : n = 2,3,\dots \right). \tag{21}$$

Remark 8. *For $m = 1$, the recurrence equation (10) with the initial values $u_0(x) = 1$ and $u_1(x) = x$, was considered in [8]. From (21) and the Theorem 3.1, results the following*

Theorem 5.4. The numerical recurrence equation (11) with the initial data $(a_k(0)) = (\delta(k,0))$ and $(a_k(1)) = (\delta(k,m))$, has the solution given by the formula

$$(a_k(n)) = \left(1, 1, m^{F_{n+1}-1} \prod_{j=2}^n F_j^{F_{n+1-j}} \delta(k, mF_n) : n = 2, 3, \dots \right). \tag{22}$$

Remark 9. We will verify now that the solution (22) presented in the Theorem 5.4 satisfies the recurrence equation (11). Indeed, for $n = 1, 2$, we have successively

$$k \sum_{i=0}^k a_i(1) a_{k-i}(0) = k \sum_{i=0}^k a_i(1) \delta(k-i, 0) = k a_k(1) = k \delta(k, m) = m \delta(k, m) = a_k(2),$$

$$k \sum_{i=0}^k a_i(2) a_{k-i}(1) = k \sum_{i=0}^k a_i(2) \delta(k-i, m) = k a_{k-m}(2) k m \delta(k-m, m) = 2m^2 \delta(k, 2m) = a_k(3),$$

for $k \geq m$, the relation being also true, $0 = 0$, for $k < m$ and for $n \geq 2$,

$$k \sum_{i=0}^k a_i(n) a_{k-i}(n-1) = k \sum_{i=0}^k m^{F_{n+1}-1} \prod_{j=2}^n F_j^{F_{n+1-j}} \delta(i, mF_n) a_{k-i}(n-1) =$$

$$= k m^{F_{n+1}-1} \prod_{j=2}^n F_j^{F_{n+1-j}} a_{k-mF_n}(n-1) =$$

$$= k m^{F_{n+1}-1} \prod_{j=2}^n F_j^{F_{n+1-j}} m^{F_n-1} \prod_{j=2}^{n-1} F_j^{n-j} \delta(k-mF_n, mF_{n-1}) =$$

$$= k m^{F_{n+1}+F_n-2} F_n^{F_1} \prod_{j=2}^{n-1} F_j^{F_{n+1-j}+F_{n-j}} \delta(k, m(F_n + F_{n-1})) =$$

$$= k m^{F_{n+2}-2} F_n^{F_1} \prod_{j=2}^{n-1} F_j^{F_{n+2-j}} \delta(k, mF_{n+1}) = mF_{n+1} m^{F_{n+2}-2} F_n^{F_1} \prod_{j=2}^{n-1} F_j^{F_{n+2-j}} \delta(k, mF_{n+1}) =$$

$$= m^{F_{n+2}-1} \prod_{j=2}^{n+1} F_j^{F_{n+2-j}} \delta(k, mF_{n+1}) = a_k(n+1),$$

for $k \geq mF_n$, the relation being true, $0 = 0$, if $k < mF_n$.

5.5 The Sequence $G(xD; 1, e^x)$.

Let us give form of the solution of the recurrence equation (10), when $u_0(x) = 1$, and $u_1(x) = e^x = P_{F_2-1}(x) e^{F_1 x}$, with $P_{F_2-1}(x) = P_0(x) = 1$. In this section $P_n(x)$ denotes a polynomial of degree n .

Using (10) and (2), we obtain $u_2(x) = xD(e^x) = x e^x = P_{F_3-1}(x) e^{F_2 x}$, with $P_{F_3-1}(x) = P_1(x) = x$ and $u_3(x) = xD(P_{F_3-1}(x) e^{F_3 x}) = xD(x e^{2x}) = P_{F_4-1}(x) e^{F_3 x}$, with $P_{F_4-1}(x) = P_2(x) = x(2x+1)$. For a fixed natural number n let us assume that

$$u_k(x) = P_{F_{k+1}-1}(x) e^{F_k x}, \tag{23}$$

for $k \leq n$. Then, using (23), (10) and (2), we obtain

$$u_{n+1}(x) = xD(u_n(x) u_{n-1}(x)) = xD(P_{F_{n+1}-1}(x) e^{F_n x} P_{F_n-1}(x) e^{F_{n-1} x}) =$$

$$= xD(P_{F_{n+1}-1}(x) P_{F_n-1}(x) e^{(F_n+F_{n-1})x}) = xD(P_{F_{n+1}-1}(x) P_{F_n-1}(x) e^{F_{n+1} x}) = P_{F_{n+2}-1}(x) e^{F_{n+1} x}$$

where

$$P_{F_{n+2}-1}(x) = x \left[F_{n+1} P_{F_{n+1}-1}(x) P_{F_n-1}(x) + D(P_{F_{n+1}-1}(x) P_{F_n-1}(x)) \right], \quad n = 2, 3, \dots \tag{24}$$

In conformity with induction axiom, formula (23) is true for every natural number k . The polynomials $P_{F_{n+1}-1}(x)$ can be calculated by recurrence from relation (24).

Example. For $n = 2,3,4$, in conformity with (24) we have

$$P_{F_4-1}(x) = P_2(x) = x[F_3 P_{F_3-1}(x) P_{F_2-1}(x) + D(P_{F_3-1}(x) P_{F_2-1}(x))] = 2x^2 + x,$$

$$P_{F_5-1}(x) = P_4(x) = x[F_4 P_{F_4-1}(x) P_{F_3-1}(x) + D(P_{F_4-1}(x) P_{F_3-1}(x))] = 6x^4 + 9x^3 + 2x^2,$$

$$P_{F_6-1}(x) = P_7(x) = x[F_5 P_{F_5-1}(x) P_{F_4-1}(x) + D(P_{F_5-1}(x) P_{F_4-1}(x))] = 60x^7 + 192x^6 + 185x^5 + 62x^4 + 6x^3.$$

Remark 10. The solution (23) of the functional recurrence equation (10), in case of the initial values $u_0(x) = 1$ $u_1(x) = e^x$, is mentioned without proof in [8].

For $n = 0,1,2, \dots$, let us consider the numerical sequence $(p_k(n))$, whose terms are the coefficients of the polynomial $P_{F_{n+1}-1}(x)$, when $0 \leq k \leq F_{n+1} - 1$ and are zeros, when $k > F_{n+1} - 1$. For example,

$$\begin{aligned} (p_k(0)) &= (p_k(1)) = (1,0,0,\dots), & (p_k(2)) &= (0,1,0,0,\dots), \\ (p_k(3)) &= (0,1,2,0,0,\dots), & (p_k(4)) &= (0,0,2,9,6,0,0,\dots), \\ (p_k(5)) &= (0,0,0,6,62,185,192,60,0,0,\dots) \text{ and so on.} \end{aligned}$$

From (23), (24) and the Theorem 3.1, results the following

Theorem 5.5. The numerical recurrence relation (11) with the initial data $(a_k(0)) = (\delta(k,0))$ and

$$(a_k(1)) = \left(\frac{1}{k!} \right), \text{ has the solution given by the formula}$$

$$(a_k(n)) = (p_k(n)) * \left(\frac{F_n^k}{k!} \right), \quad n = 2,3,\dots \tag{25}$$

6. DISCUSSIONS AND CONCLUSIONS

Gould’s article has opened a new path in the field of the recurrence equations and the present article is trying to revive this topic. It is very interesting that all the Gould equations have solutions which express themselves relative to the Fibonacci numbers. Finding a Gould sequence of functions that are not expressed relative to Fibonacci numbers remains an open problem.

By solving the Gould functional recurrence equations the solutions are also obtained for the associate numerical recurrence relations. In addition, we tested if the obtained solutions satisfy indeed these numerical recurrence relations. These tests are also interesting for algebraic work with Fibonacci’s numbers.

Besides the classical functional recurrence equations, as those verified by the special functions, it is important to find new equations of this type as well as some methods of solving them. Such equations can be obtained through the combination of the classical equations. So, the Author has considered functional recurrence equations of algebraic-differential type in the works [1] and [3] and algebraic-integral in the work [5]. In order to solve such equations it could be useful the *hybrid Laplace transform*, introduced by V. Prepelit̃a, [9], obtained through the combination between the usual Laplace transform and the Z-transform.

Another important issue is the application of these equations to the solution various problems. The Author has applied the recurrent equations to the combinatory theory in the papers [2] and [4] and to the probability in the paper [6].

ACKNOWLEDGMENTS

Many thanks to my colleagues and friends Prof. Dr. BrândușaPrepeliță-Răileanu, ValeriuPrepeliță and ConstantinDrăgușin for their support in writing the final form of some of my recent articles.

REFERENCES

- [1] M. I. Cîrnu, First order differential recurrence equations, *International Journal of Mathematics and Computation*, 4 (2009) 124-128.
- [2] M. I. Cîrnu, Eulerian numbers and generalized arithmetic-geometric series, *UPB Scientific Bulletin, A*, 71(2009) 2, 25-30.
- [3] M. I. Cîrnu, Initial-value problems for first-order differential recurrence equations with auto-convolution, *Electronic Journal of Differential Equations*, 2011 (2011) no. 2, 1-13.
- [4] M. I. Cîrnu, Determinantal formulas for sum of generalized arithmetic-geometric series, *Boletín de la Asociacion Matematica Venezolana*, 43 (2011) no. 1, 25-38.
- [5] M. I. Cîrnu, A certain integral-recurrence equation with discrete-continuous auto-convolution, *Archivum Mathematicum (Brno)*, 47 (2011) 267-272.
- [6] M. I. Cîrnu, Iterating linear causal recurrence relations, *Mathematica Aeterna Vol. 3*, 2013, no. 6, 473 – 487.
- [7] M. I. Cîrnu, Linear recurrence relations with the coefficients in progression (accepted in *Annales Mathematicae et Informaticae*).
- [8] H. W. Gould, Operational recurrences involving Fibonacci numbers, *Fibonacci Quarterly*, 1 (1963) 1, 30-34 (www.fq.math.ca/scanned/1-1/gould.pdf).
- [9] V. Prepeliță, 2D continuous-discrete Laplace transformation and applications to 2D systems, *Revue Roumaine de Mathématique Pures et Appliquées*, 49 (2004) 4, 355-376.

AUTHOR'S BIOGRAPHY



Licensed in 1964, PhD in 1976, retired professor at the Polytechnic University of Bucharest, Romania. Published 12 didactical books, 50 articles in functional analysis and applied mathematics and held 20 communications. Member of American and Romanian Mathematical Societies, ISSAC by Interest Group in Generalized Functions and Editorial board of several Journals. Reviewer to *Mathematical Reviews* and *Zentralblatt für Mathematik*. His biography is presented in *Who's Who in the World*. Selected as a Leading Educator of the World.